
2. Cut sorghum heads or pick corn from the number 
of feet required, and weigh each sample . 

3. Repeat process a sufficient number of times to 
get good representation of field. 

(a) Using 1/100 of acre for yield check: take at 
least 3 checks for area to be cut, but not 
less than one for each 5 acres. 

(b) Using 1/200 �o�f�~� for yield check: take at 
least 4 checks, but not less than one for 
each 3 acres. 

4. Add all weights and divide by the number of 
checks to get average for the field. Multiply by 100 
(or 200) to get weight per acre. 

5. Thresh several representative ears (or heads) 
from each check to make sample for moisture test. Mix 
grain thoroughly and take sample for moisture content. 
Moisture test should be made as soon as possible after 
weighing the check yield samples. 

6. Determine amount of field weight required to 
yield 56 pounds of shelled corn containing 15 percent 
moisture, or amount of field weight required to yield 100 
pounds of grain sorghum containing 14 percent moisture 
(Table 5). This is the 11 moisture conversion factor: 11 

Table 5. Corn and Grain Sorghum 
Moisture Conversion Table 

Percent Moisture Field Weioht Required For: 
in Grain 56 lbs. Shelled 100 lbs. Grain 

Corn (15%) Sorghum (14%) 

14% 68.4 125.0 
15% 69.6 126.5 
16% 70.8 128.0 
17% 72 .0 129.6 
18% 73.2 131.1 
19% 74.5 132.7 
20% 75.8 134.4 
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Percent Moi sture 
in Grain 

21% 
22% 
2 3% 
24% 
25% 
26% 
27% 
28% 
29% 
30% 
31% 
32% 
33% 
34% 
35% 
36% 
37% 
38% 
39% 
40% 

Field Weight Required For: 
56 lbs . Shelled 100 lbs. Grain 

Corn ( 15%) 

78.0 
79.3 
80.7 
82 .1 
83 . 6 
85.0 
86 . 5 
88.0 
89.5 
91.0 
92.5 
94.0 
95.5 
97.0 
98.6 

100.2 
101.8 
103.4 
104.9 
106.5 

Sorghum ( 14%) 

136.1 
137.9 
139.6 
141.5 
143.4 
145 .1 
147.0 
149.1 
151.2 
153.4 
155.6 
157.9 
160.3 
162.7 
165.2 
167.7 
170.3 
173.0 
175.8 
178.7 

Now the yield can be figured by using the following 
formula: 

check yield weight 
moisture conversion 

factor 

X 100 (or 200 I de- = Yield Per 
pending on size acre in 
of field checks) bushel 

or cwt. 

Adjust the estimated yield per acre downward to 
allow for normal field losses. A realistic figure to allow 
would be around 5 percent. 

7. Establish price for determining value per acre. 
If the costs of ensiling the crop are included in deter­
mining the silage value 1 deduct the cost of harvesting 
the grain from the expected market price to get the price 
per bushel in the field. Other costs to deduct include 
costs of shelling I hauling and storage losses. If the 
corn or grain sorghum needs to be artifically dried before 
storing deduct the cost of drying to establish the mini-
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mum selling price per acre. Use the following table of 
costs as a guide, but adjust for local conditions. 

Table 6. Estimates of Harvesting 
and Marketing Costs 

Operation Per Bushel Per Cwt. 

Grain Harvesting: Range Ave. Range Ave. 

Cost of Harvest 
(operation costs) 2·- 5¢ 3¢ 3- 7¢ 5¢ 

Cost of Shelling 2- 3¢ 3¢ 3- 5¢ 4 1/2¢ 
Cost of Hauling 

to Market 2- 4¢ 3¢ 2- 5¢ 4¢ 
Mise. Cost & 

Storage Losses 3- 5¢ 4¢ 4- 8¢ 6¢ 
Drying Costs 7-15¢ 10¢ 12-25¢ 20¢ 

8. Organic fertilizer value of stover. Estimate the 
amount of stover per acre by using the estimated pro­
duction of grain per acre. Normally, you can figure 
about one ton of stover for each 30 bushels of corn yield; 
for grain sorghum, one ton for each .1§. bushels or 2, 500 
pounds of grain. The amount of fertilizer elements per 
ton of corn or grain sorghum stover is shown in Table 7. 

Table 7 . Pounds of Fertilizer Elements 
Per Ton of Stover 

Nitrogen 
Phosphorous 
Potassium 
Estimate of value 

16-20# 
5- 8# 

18-25# 

per ton $2.25-$3.50 

Grain 
Sorghum 

12-15# 
3- 5# 

19-2 6#1/ 

$1.75-$3.00 

Value Per 
Pound 

8-12¢ 
7- 9¢ 
5- 7¢ 

Yin areas where potassium fertilizer applications are 
not usually recommended, ignore the evaluation of 
potassium. 
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From this in£ ormation, the fertilizer value of the 
stover can be figured, using the following formula. 

Tons, Pounds, Value Per 
Stover X Nutrient X Pound = Value 

X N X $ = $ 

X p X ~ = $ 

X K X $ = $ 

Total Value Per Acre = $ 

9. Cost of Harvesting Silage. If the seller helps 
harvest the silage, include his harvesting costs to de­
termine the total value of silage sold. Charge for the 
services provided and add this to the value of the total 
amount of silage sold. Ranges of silage harvesting 
costs: 

Table 8. Range of Silage 
Harvesting Costs 

Silage Harvesting Operations Cost Per Hour 

Forage Harvester (tractor, cutter 
and operator) $6.00 to $7.00 

Hauling Silage 
Wagon 1.00 to 1.50 
Two-plow tractor 1.25 to 1. 50 
Operator 1.00 to 1.50 

Unloading Silage (blower, tractor 
and operator) 4.00 to 5.00 

BUDGET EXAMPLE: Asume, from the previous steps, 
that the corn yield cut for silage was estimated at 1Q. 
bushels per acre. Allowing for a 5 percent harvesting 
loss for grain, the "corrected" yield would be 85 bush­
els . Based on one ton of stover per 30 bushels of grain, 
the corn would produce 1 tons of stover per acre. If the 
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market price is $1.00 per bushel, deduct costs of har­
vesting (4¢}, shelling (3¢}, hauling to market (3¢}, and 
storage losses (5¢}. The net price would be $0.85 per 
bushel. 

1. Value of grain: 

Yield per Price Per Value of 
acre times Unit = Grain 

85 bushels X $0.85 = $72.25 

2. Value of stover: 

Tons Per Pounds 
Acre times Nutrients times Price = Value 

3 tons X 18:jf N X 10¢ = $ 5.40 

3 tons X 6:!f p X 8¢ = 1.44 

3 tons X 20:jf K X 6¢ = 3. 60 

Total Value of Nutrients = $ 10.44 

~ 72 . 25 Plus $10 . 44 = $82 . 69 Per Ac re 

This value, multiplied by the number of acres, plus 
any charges for harvesting the silage, will determine the 
total charge for the corn silage sold. 
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